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From question 1 to 5, each question scores 10 peoints.

1. Suppose that you are the consultant to an agricultural cooperative that is
deciding whether members should cut their production of oranges in half
next year. The cooperative wants your advice as to whether this action will
increase members’ revenues. Knowing that oranges (0) and watermelons

(W) both compete for agricultural land, you estimate the demand for oranges
to be,

0 =3.5-F, +0.25F, +0.5/,
where Py is the price of orange, Py the price of watermelon, and / income,

Should you support or oppose the plan? Is there any additional information
that would help you to provide a definite answer?

2. Suppose that Mary’s utility function is given byu (/)= 107 , where I

represents her income.

a) Suppose that Mary’s current income is 40 and can earn that income next

. year with certainty.  She is offered a chance to take a new job with 0.6

: probability of earning 44 and 0.4 probability of earning 33. Should she
take the new job? '

b} Would Mary be willing to buy insurance to protect against the variable
income associated with the new job? If so, how much would she be
witling to pay for that insurance?

3. Afirm has a production process in which the inputs to production are
perfectly substitutable in the long run. Can you tell whether the marginal

rate of technical substitution is high or low, or is further information
necessary?  Discuss.

|
_‘1
h
!
i:

§

4. Asales tax of 10 percent is placed on half the firms (the polluters) in a

i competitive industry. The revenue is paid to the remaining firms (the

; nonpolluters) as a 10 percent subsidy on the value of output sald.

a) Assuming that alt firms have identical constant long-run average costs
before the sales tax-subsidy policy, what de you expect to happen (in both
the short run and the long run), to the price of the product, the output of
firms, and industry output?

b) Can such a policy always be achieved with a balanced budget in which tax
revenues arc equal to subsidy payments? Why or why not? Explain.
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5. Two firms compete by choosing price. Their demand functions are

o) =20-A+4A
., =20+8-P,

where Py and P, are the prices charged by each firm, respectively, and O, and (0,
are the resulting demands.  Suppose you are one of these firms and that there
are three ways you could play the game: (i) Both firms set price at the same time;
(it) You set the price first; or (jii) Your competitor sets price first.  If you could
choose among these options, which would you prefer? In the case you choose,
what is the price you charge? Explain why.

6. # & Cournot duopoly competition (445 ) e 42358 X S s D(p)=a—p » &
, Fa>03 B p s - MeREAERAEATMAa>c>0,

{6-1) 45 Cournot competition F - A H xR 2 FAHHT? (10pts)
(6-2) R AF—REH (BE) LU HB4EEE- (Sps)
; (6-3) WREMBE WS BHEABEETH—F  MALLT — RhEM AL

B R MARERBRXILECASHEANR  AMKAEATAET? (B
WA-FERMEHETRE)  (10pts)

T HH—MBEA - RHRHRERS - E—EABERSE =0,1) mP =

A RME e’ =(,0) o Hxl RAE I BABS P LBH ST -

! (7-1) B3 % i AW B8 A (x)=x'x) » 4% i — &) Walrasian equilibrium

58 o (10 pts)

1
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(7-2) et — Az et u(x)=x - » £ ik 27 &) Walrasian

! cquilibrium -8 - (10pts)

(7-3) A2 B M BB A BELE 7 iz (Spts)
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Answer the following five questions, equally weighted

1.{20%)

Let X he nniformly distributed on the interval {0, 1), and let the conditional dis-
tribution of ¥ given X = z he uniformly distributed on the interval (—x, ). .
(a). Find the joint density of (X,Y).

{b). Find the conditional density of X given ¥ = .

2.(20%)

Let f(z,y,2) = Bryz, 0 <z <y <z < 1.
variances:

(a). Var(Y|Z = z) and

(b). Var(Y|{X,2) = {a, z)).

Find the following conditional

3.(20%)
Let X|,..., X, be independent and X; ~ N(i,0?), where § and o? > 0 are un-
! known parameters. Find the maximun likelihood estimators (MLE} of f2.

i 4.(20%)

{

! In a sample of size 3 we observe 4,6 and 8. Can we reject the hypothesis that
{1‘ # =3 against 2 5 3 with these data 7 Use o = (}.05.

; '

f 5.(20%)

Suppose that X,, - 3 (read as ™ X, converges in probabitity to 37) and Y, -Zi 6.
To what do the tollowing converge in probability ? State the reason,

j (a). n(Xo + Y2 /(n + 12, and

: (b). n3{(X2 4 Ya)/(n® - n - 3).

i
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1. From the following table, national saving is {a) 130. {b) 120. (¢} 110. (d) 100. () 90.
{f) 80. (g) 70. (h)60. (1)50. (j) 40. (k) 30. (1) 20. {m) 10 (n) O. '

Consumption $ 190 (current dollars)
Investment 80
Government spending 60
Net taxes - 50
Imports 30
Exports 20

Lo

If money wages rise the instant that the money supply increases, the price level {a)
and output both would rise. (b) would rise and output would fall. (c) would rise and

output would remain constant. (d) and output both would fall. {e) and output both
would remain constant.

G S e

| 3. A Lorenz curve plots the cumulative percentage of income against the cumulative
percentage of (a) area. (b) output. {(c) consumption. (d) population.

A

4. The policy tool of the central bank that relies on bank borrowing is the (a) required
reserve raiio for depository institutions. (b) tax rate on bank profits. (c¢) buying and
selling of government bonds. (d) discount rate.

5. A business cycle shock is the {a) economic event that begins a business cycle fluctua-
tions. (b} public response to economic fluctuations. (¢) mechanism that causes a cycle
to continue. {d} effects of an economic impulse to be eliminated.

6. Intertemporal substitution in labor supply describes shifts over time in labor supply in
response to changes in (a) money wages. (b) real wages. (c) the real interest rate. (d)
consumner demand for goods. (e) the real income.

7. Mr. Wang works as a clerk in a retail store during the day and is teking accounting
classes in the evening. Mr. Wang is (a) not producing a good or a service. (b) pro-
ducing inside his production pessibility frontier. (c) producing outside his production
possibility frontier. (d) accumulating lmman capital.
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8. If the real interest rate is below the equilibrium point for the demand for investment
funds and the supply of funds, (a) lenders wili be unable to find borrowers willing to
borrow all of the available funds and the real interest rate will fall. (b) borrowers will
be unable to borrow all of the funds they want to borrow and the real interest rate will
rise. {c) lenders will be unable to find borrowers willing to borrow all of the available
funds and the real interest rate will rise. (d) borrowers will be unable to borrow all
of the funds they want to borrow and the real interest rate will fall. (e) a rationing

scheme may arise for the funds to be rationed. (f) the price mechanism will cause the
real interest rate to rise.

9. Without international borrowing and lending, with free trade a country’s exports will
(a) be less than its imports when the money supply increases. (b) exceeds its imports
when the monéy supply increases. (c¢) equal its imports independent of the money
supply. (d) equal its output net of domestic expenditures. (e) be less than its output
net of domestic expenditures when the money supply increases.

10. All of the following are necessary preconditions for economic growth ezcept (a) restric-
tions on private ownership of factors of production. (b) markets. (c) property rights.
(d) exchange using goods rather than money. (e} monetary exchange. :

= EETALH, CREE AR AR R (0%, £MEE 1045)
1. Lucas B9#tt# (Lucas critique)
2. WMEHTH (efficiency wage)

=, BBRPRBTHEMERER T2 REERERE, BRTHRTERZEECBORMBIT:

max  Ulw,m) = —(u+ ar®), a>0 (1)
st. w=pfla-u)+x°, >0, >0 {2)

b, R (1) AR TBEEE, ZRB (2) e TSR Phillips #
o BRATRERTHESRVERECR, BIERARTE R HEILEE TIIRE:

1. BREAGETRERYE EFRAOEHE 7 = 0), RITHBFEEERRERM? (10%)
9. BB 5% 2 M (perfect forsight) FHWIRFEMHES (B n° = m), RITHREER
ERERRM? (10%)

3, Bl b3t 1 SRR T ERTt e ik BiE, wRAkEERe FKR. (10%)
B= e R

u = REE @ - BREEZERE);, = BEERE 1 - FHEEEERES
Uu, ) = FHRTHTREDBRE S it #fE.
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